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Note :

1. This question paper has 100 questions. Each question carries 2 marks. Attempt all
questions.

2. Read carefully instructions regarding method of answering questions given on the last
page and indicate your answers on the Answer-Sheet provided.

3. Use of any type of calculator or log table and Mobile Phone is prohibited.
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1. et o e 4
10,7,6,8,5,4,2, 7
7 2 o wg (2 2) waw: §
(a) 3aUT 6
_(b) 671 3
(c) 64T 2
(d) 32
() ¥ & 13 7

2. frafafad sgw-avf # g wm (7) W
Freferfea § @ =i=ar s1gr 3w ?
X, 20 H.D

(a) M

(b) N

(€ O

@ Q
—te) wH @ =i et

3. F=foRes wemsti 587, 875, 695, 767,
867 1 & s, et fam & orafa, o1y

et it

3 - 42 =3 +

m The two missing terms (?, ?) in the
~— following series '
10, 7, 6,8, 5, 4, ?, ? are respectively

(@) 3and 6

s

/(-b’j 6 ar;d 3

(c) 6and 2
(d) 3and 2

(e) None of these

2. Which of the following letters will
appear in the missing place (?) in the
following letter series ?

X T, LHD
P 38
(a) M

(b) N

(c) O

d) Q -

_)Qa)"'lilfone of these

AN
@ Which one of the following numbers
587, 875, 6895, 767, 867 is different from
the other numbers, in accordance with

&R U AT R ?
some rule ?
(a) 695 595
(d) 875 (d) 875
(e) 3 & wIg e (e) None of these
CGP-14-02 * Page No. 4 Set-A
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4. é@gjg%\ﬁm%f‘@aaaaﬁ(&_s, 19, 13),
(11,19,2,3), (4,29, 2, 13), (2, 31, 11,4)

T | FE wey (@R B 2 ), R
fem & srmla, 31 gl @ arem 2

(@) (3,5, 19, 13)
(b) (11,19, 2, 3)
(©) (3,29,2,13)
<) (2,31, 11, 4)
(e) ¥78 A 28

5. ﬁw%f@aﬁmﬁa(?)%wmw
HIE wE st 2

(a) 26
(b) 33

(c) 35

(d) 36
(e) 79 & =15 =Y

6. 1am1303;aﬁaﬁﬁmﬁwaﬁﬁﬁw,
S 6§ i B § (ST ) qT
ﬁﬁﬁmﬁww‘a’ww:ﬂm%%

S+ =)
—I’ —!‘
@ Which one ‘spe{g of the following sets of
—__numbers (3, 5, 19, 13), (11,19, 2, 3),
&': ~13,20.2 13),(2.31,11, 4) is different (if

any) from the other sets, in accordance
with some rule ? et

/_(aj’ (3,5,19,13)
(b) (11,19,2,3)
(©) (3,29,2,13)
«d) (2,31,11,4)
(e) None of these
/-

f’ 5, A]What is the number in place of question
\——mark (?) in the following ?

(c) 35
(d) 36

(e) None of these

6. The number of numbers between 1 and
130 which are divisible by 6 with zero
remainder and which consist of the digit

(@) 5 (‘6" in any place is
©) 7 i
(b) 7
(c) 8 () 8
(d) 16 (d 16 -
(e) @ Bk Je%e of these
CGP-14-02+*
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7. i1, 2 3R 3 1S STHATS 3 3Heh]
waﬁ#@mﬁ,ﬁﬁaﬁﬁwq%q

|, HAM ] [}
SEE
(a) 1233 '3 E,J |
(b) 1321 & bzt )
|
(c) 1323 "253} L/
(d) 1332 324 .
(e) wil & g 7 fjﬁgz
S

8. faelt ifén & o o, weft 3uftm =afFy
H19E H G IR 71 e €1 gt 15 aR
g ey @ | S o 3ufen sfRet H

dend

&) & ;

(b) 6 oy
(c) 7 xRy
(d) 8 j/ .
(e) &t & =ig 7t

9. 0,1,2912d% % 3= (wer=h) 4 4, W@

7. The sum of all the 3 digit numbers
which are formed by the digits 1, 2 and
3 without repetition of digits is

(a) 1233
(b) 1321
(c) 1323

—

/cd)d'ééé’

(e) None of these

8. Atthe end of a meeting, all the persons
present shook hands with each other
once. The total number of ‘handshakes’
is 15. Number of persons present in the

meeting is

@5
s

(e) 7

(d) 8

“e) None of these

9. From the digits 0, 1, 2 upto 12, the
number of digit(s) whose mirror

ie 1ot Forerc / fSreep 31meet o wftforer et image(s) is (are) same as the original
3ieh [ Sieh] ST E 2, B ' digit(s) is
(a) 0 (@) 0
(o) 1 41 () 1
(c) 2 | ~ (©) 2 -
(@ 3 AT
(e) ¥ | IS e (e) None of these
CGP-14-02 * Page No. 6 | Set-A
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10, Frefifen s #, R siw 8 groafy

el AR gE ® 2

87564256822

(@) 5

(b) 6

(c) 8

(d) 2

(e) 3 & =¥ e

1. 1 i & soamsR T (=TT 6 Hiew,
IS 4 7fte) F et iR, 1.5 wftex s
% =i el o fremer R 2 | =
& S B 9 Y O G T w3 e
ﬁmw%rmaﬁ‘ﬁm(ﬂwﬁﬁ)%

(r':!) 9% ’_//h——”’/‘)

=1
Be - /E
o (8

135
g

12. 7&’17@107@:%%%%1%

10.  In the following number, which digit is

repeated once in the very beginning ?_

87564256822 |
a5

(b) 6

() 8

(d) 2

(e) None of these

11. Froma rectangular sheet of tin (length
6 meter, breadth 4 meter), a square of
side 1.5 meter is cut from all the corners
of the sheet. The remaining portion of
the sheet is folded into the shape of an
open box. The volume of the box in
cubic meters is

@ 95

(b) 9
ey

135
(d) e

(e) None of these

¥ 3 I S o 3 12. 7is multiplied by 7, 107 times. The digit
(a) 1 in the unit’s place in the product is
1
(b) 5 26. (3 :z)) g
5 7 ‘?E?: T () 7
;/\ (d) 9 -~ \/wf@'
(e) 7 & wid e " (e) None of these
CGP - 14— 02 * Page No. 7 -4
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L 1
=)
13. TA%RA 4%°x 9% x 77 W AT UHEUE
1 gl geA ©
o
(a) 33
(b) 20
(c) 15
(d) 11
(e) 30 © I3 &l

14. o sfad foredl el ¥ oo < x d gu
F 2 | TR T a2 B, 3,
e 4 R, uft gver ¥ ) s s Tt

8 <77
g0 BT R

(%

The total number of prime factors in the

product 4%x 9% 7" is

(b) 20
() 15
Ad) 11

(e) None of these

14. Three persons walk some dlstance’ X "j

along a street at the speed of 2 km
3 km. and 4 km. per hour. Thelraverage
speed is (in km. per hour)

i1 39

(Fr . ufy =) 2
sl
1 (8) 23
(@) 23
3
’ 3 (b) 2;
(b) =7 A~
10 /2%
€ S0
’
(d) 3% (@ 33
(e) T & Ig el ~e) None of these
15, (4764)1795 %1 57 Wi e sian @ | Awwer 3 (?3\) (4764)1795 is divided by 5. The
remainder is
(a) 1
1
) 2 o
(b) 2
e ©) & -
(d) 4 /(m”li
(e) ¥ & =g T _ (e) None of these
CGP-14-02* Page No. 8 Set-A
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16. waa@rﬁwaﬂqésrﬂ?ﬁﬁ%i%!saﬁﬁ
Q%ﬁmﬁré‘fﬁ%%ﬁﬁﬂﬁﬁﬁaﬂ?ﬁw
qFdl 8 ?

(@) 73
(b) 36
(c) 28
(d) 54
(e) 378 & i3 &

= qwie M3 o & foeelt wlienr & 7 ol g
sfcrerer o sy & et St o1 1T e T R
16
151
141
13
12 4
e
:_
09
081

07
06 -
05 -

04
03 4
02
0.1
0 . : : . . ‘ 3
E1E 2 3 4 ] 6

I TN 17 € 21 a5 Iuhafla Ry w smufia
21 59 U & It ife |

17. @ Fra®f e 3 Rl pier <1 o

155

-

us
b

,/3

6. A box contains 10 green and 8 yellow
balls. In how many ways, two balls of
the same-colour can be drawn ?

A 73
(b) 36
(c) 28
(d) 54
(e) None of these

The following figure shows the ratio of marks
of History and Geography of 7 students inan
examination.

16 1

15
14
131

12
1.1 1

1 o

09
08 -
g 0.7 1
gg 06 1
05 1
04 1
0.3 1
021
0.4 1
0 T T T T T T ¥
Student 1 2 3 4 5 6 7

The question numbers 17 to 21 are based on
the above shown figure. Answer these
questions.

17. How many students got more marks in

Tl 3 7ftes o e R E 2 History than in Geography ? o
(@) 2 WE -~
Pk b) 3
(c) 4 (©) 4
(d) 5 @ 5
(e) T & =I5 e (e) None of these
CGP-14-02* Page No. 9 Set-A




% Frerferfes 3 @ B wEl 3 spie 6 o
gfoem § %0 37y R 2
(@) 1,3,5,6
(b) 4,5,7
(© 1,4,5,7
(d) 1,3,6,7
(e) I &
19. 8@ 3% 4 % o e & w a7}
wfereTd siga 2
(a) 15
(b) 20
)pygo
(d) 3roaricd arieng
(e) &7 @ s 7l

20. sfoem /e S TRrehem oIt =Haw ST

18.  Which of the following students got less
marks in History than in Geography ?

(a) 1,3,5,6
M, 5,7
(©) 1,4,5,7

- (d) 1,3,6,7

\ﬁ)@ﬁ%ﬁe of these
J(

19. Percentage increase of marks in
Geography from student 3 to 4 is

(@) 15
(b) 20

A0

__Ad) Insufficient data

/(ﬂrﬂone of these
1B

~. 535

20. Th@f@{gﬂ?éﬁpf the maximum ratio
and minimum ratio of History/

HHR Geography is 21
(a) 0.45 (a) 0.45 #_,Lr"/f""'
(b) 0.50 (b) 0.50
(c) 0.90 (c) 0.90
(d) 0.95
(e) 37 @ =1 7 :

CGP-14-02 * Page No.10 Set-A
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21. JEAH YA H 60 JFF T ER S | 3™
A I0% 3iF 8
(a) 48
(b) 68
() 72
(d) Ferifter =& o s Wt
(e) T & HE 7

frar R 2 forst 1 Rt s X 1 T 1993 &
1999 T s %, A swIiaT TR |

100l

>
.

94-85 95-96 96-97 97.98 98-99

mmzzﬂzsmwﬁﬁhﬁammﬁﬁ
& | 5 Wl % I |

22. 1994-95 ¥ 1995-96 a& X & (d o

25 2t
B

¥

21. Student 4 gat 6 60 marks‘ﬂn Geography.

His marks in Hlstory are
(a) 48
(b) 68
(c) 72

ool

(d) C/ar,mot be determined

,:(ej/lqlona of these
\/ *

The following graph shows the import of a
certain commodity X in Crore Rupees
between 1993 and 1999.

_ Impaort of X
A
2000
SR
5 :
- - ’Ea" 1200
B s 95-95 %97 9798 9899

The question numbers 22 to 26 are based on

the above shown figure. Answer these
questions.

R wga 3 22. Percent increase in import of X from
1994-95 to 1995-96 is
(a) 43 (a) 43
(b) 33.3 /b‘ffg 4
(c) 28.8 (c) 28.8
(d) 25 (d) 25
(e) 1 & 15 & {e) None of these
CGP-14-02* Page No. 11 | Set-A
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23. a&ﬁ.aﬁ%mmmwx%mﬁ
SgIal =1 SiEd ¥ (w01 %. H)

(a) 260

(b) 280

(c) 325

(d) Frefia == o st wepan
(e) ¥ @ =g 7

24. o =i & forg, X 1 T 3T igq
SfRITT & 31fers o1 2

(a) 4
(b) 3
(c) 2
(d) 1
(e) 374 & =S &

-25. 34 9w, e X %1 s, i amaE @
9 ¢ 991 fred X =71 a1/, g s
¥ 3o 2, i e 1 o

23. Average of the increase inimport of X year
by year for all the years is (in Crore Rs.)

_Aay280
(b) 280
(c) 325

(d) Cannot be determined
Mone of these

24. For how many years, there was more
import of X than the average import of X 2

(a) 4
(b) 3
o2
(d) 1

{e) None of these

25. The difference of the numbers of years
in which import of X is less than the
average import and in which import of
X is more than the average import is

(a) 3 _tar’B
(b) 2 (b) 2
(c) 1 (c) 1
(d) 0 (d) 0
(e) ¥ & ré el (¢) None of these
CGP-14-02* Page No. 12 Set-A
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26.

Freforfaa avt 4 s e, X & s &1
I el Uer o (3t T8t) 3 st 3 e
®7?

(a) 1995-96 W5 1996-97

(b) 1997-98 g 1998-99

(c) 1993-94 td 1998-99

(d) (b)wd (c) A

(e) 578 & IS =&

Frefofaa st (27 9 33 o) o v # v v
T QU 1 a2 B | Snyent Fivly o 2
HUT FH1 TUTFH2 T 1 IR I & e vafeq § a7

26.

For which of the following years, the
difference of import of X is equal to the
import of X for one (two) particular
year(s) ?

(ay1995-96 and 1996-97

(b) 1997-98 and 1998-99
(c) 1993-94 and 1998-99
(d) Both (b) and (c)

(e) None of these

Each of the following problems from 27 to 33
has a question and two statements S1 and S2.
You have to decide whether the statements

£ S1 and S2 are sufficient to answer the
el e a question. Your choice will be
AT) T ST S 1 I et 71 3 e 2 A1) IfyougettheanswerfromS‘l alone but
fereg Faet 2 @ 72 fireran not from S2 alone. e
A2) 3R STt e 1 I et %2 Y Forerar A2) Ifyou get the answer from $2 alone but
Teng et o 1 F T fireren not from S1 alone.
A3) Ffe YR YT H IR F1 T F2 3 F A3) ' If you get the answer from S1 and S2
T A1 AT & fireran @ 51 6 1S oft o together although neither statement in—
AT 19 W IR I F e vt = 2 itself is sufficient to answer the question.
A4) =R I F Rie, 1 379 o9 yate 2 A4) If S1 alone is sufficient tand Sg alone is)
AT %2 FW Y & i 2 sufficient to get the answer.
A5) R SR S B I F v F2 A & A5) Ifyoudo not get the answer from S1 and
5 S2 together r and some more rnformatlon
T R +ft £ Al gﬁ + fo IS required to get the answer.
T 1= g ot sreavEwd — e
s bW o 27. Whatis the valueofa +b ?
y &% bt St:a+2b=7
%2:3a+b=6 o
(a) A1 (a) Al
(b) A2 i) A2
(c) A4 (©) A4
(d) A5 (d) A5
(e) 379 | IS 7 /_(ey None of these
CGP-14-02* Page No. 13 Set-A
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28.

29,

i forg P, Q R @ o W w | farg
RPWEQ#dui2|PwE Q 50t
W wE

Qw R % ofiw & i g 2 2
@1:PR®I gl QR A wss Reg 2
_mz : PQH gt QR @ 20% i 2 |
(@) A1

(b) A2

(c) A3

(d) A4

(e) ¥ & 1S 7
ﬁﬂﬁw%ﬁg@qmﬁmwwmmﬂm
® 1 .y wo d seeh a0

15 xS IR P R R Fwm @y

28. Threepoints P, Q, Rareona straight line.
The point R is between P and Q. The
distance between P and Q is 50 meters.

What is the distance between Qand R 2

1 /
S1 : distance PRiis —s-’d of QR../

82 : distance PQ is 20% more than QR.
(a) A1
(b) A2

(c) A3

-

/(d)’,ii_&

(e) None of these

29. Abusis moving on the main road of a .
city. What is its speed in kms. per hour ?

S1: The bus is moving at \asyd of
X meters per second.

S2: The path of the bus is circular. <

2 : T HT U JAHR 2 | (8 KT
' o

(a) A1
(b) A2

(b) A2

i (c) A3

(d) A5 (d) A5

(e) 774 3 g e (e) None ;:}f these

CGP-14-02 * Page No. 14 Set-A
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30. =¥l Awd B ¥ i 80 Rl ighd 30. Thedistance between two cities A and B
et wr A 4t w2 is 80 kms. Acarcontalns 4litres of petrol.
1 ) 9 o el A IR A T EEAN E 2 :,_“"—:'-—-==—Cﬂn tile_iaf(fof ?r_trfdmfa_nf%hfeen >

C two cuties 7
H1: TR 45 T 57 T fwd 81: The car is driven at a speed of
T & | 45 kms. per hour. <
F2 : FUH @I R 20 B, S uw e | S2: The car consumes one litre per
20kms. V
(a) At "“j}
(a) A1

(b) A2 )

() A4 | e

(d) A5 (c) A4

(e) ¥4 & = T (d) A5

31. PR TR ARA =g 9 () None of these

1 RFEFQRI
31. Howis Prelatedto R ?
F2:Q,PHER |
S1:Qisthesonof R. -
(@) A ;
52 : Qs the brother of P.
(b) A2 (a) A1
b
(c) A3 (b) A2_
_’(_c).-'ﬁé
(d) A4 o
(d) A4 |
() ¥ & =1 et %e of these

CGP -14-02 * Page No.15 Set-A
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32. =¥ 2008 #gHiarh @ RTE 2 32. Whatis the income of Sunita in the year
2008 ? '

1: 2006 % gftar it st 35 2007 o , :
S1: Sunita’s income in 2006 is 10%

F AT H 10% F9 R | ; :
less than her income in 2007.

#2: 2006, 2007 @1 2008 & Friar hit $2: Sunita’s total income in three
FAAA S AGE. 2§ | years 2006, 2007and 2008 is
Sl g v O
Rs. 5Lac.
(a) A2
(@) A2
(b) A3
(b) A3
(c) A5 '/(c)AS
(d) A4 (d) A4
(e) =l & =¥ 7 (e) None of these

33. e TE RT3t e B o v 2 33. How much money do Mohan and
Mukesh have together ?

1 : AIeT % T The A 10 &. 375 3 |

S1: Mohan has 10 Rupees more than

F2: I H T WA Y 15%. FAE | what Mksgabilgs.
S2: Mukesh has 15 Rupees less than

(a) A5 what Mohan has.
(b) A4 @) A
© A3 (b) A4
c
(c) A3
(d) A2
(d) A2
(e) ¥ @ =IE (e) Néne'of these

CGP-14-02* Page No. 16 Set-A




34. :ﬁa“@aaaa:rqammanmﬁaé’rﬁm
fwd
RIS ;W YT Ry % T e |
e ;1) srftenrfes wwy =fR
ynor’ 3 foe s § |
ll) WRikTel g wrer F R st
T2
Frfafea & e w2 2
(a) Faet Fewd | Faear |
(b) Fa= fFrewd || Frepemar 2
(o) St Foeehd | s 11 oo €
(d)  Feerd | wg 1 & foeemed || et €1

(e) <8 @ 1S

85, 9w wwasw vd 38 W HuTRE SEEh
ot wishay (shrfadt-sw) € e E |

T T el H et g @ weifyg
Ut =6t wen § weel st g8 2 )

wiera (srdamel—sm) ; 1) s S R-frm
# 3 AT B IS ST IRy |

ll) wee | 39 S5 F1 ISR 7 =R |
) AT < Iu=r ¥ WX F arevare Y

34. Below is given a statement followed by
two conclusions based on it.

Statement : ‘Morning Walk is good for '
health.

Conclusions : [) most of the healthy
people go for morning walk.

I) Evening walk is not good for health.

Which of the following is correct ?

(a) Only conclusion | follows

(b) Only conclusion Il follows

(c) B}tbfconclusions I and Il follow
j(dieither conclusion | nor Il follows

(e) None of these

35. Below is given a statement followed by
three courses of action.

Statement : There is significant
increase in the number of patients
affected by some disease ina city. )

Courses of action : I) This problem
should be raised in the Mumcrpa%——
Corporation of the city.

ll) This problem should be raised in
the Parliament.

3 A TR R s =Ry ) Hospitals in the city should be
3 e . E?:;;;'p;enctisproperly for the treatmerlt____
;Hfza;) il T = Which of the following course(s) of
action logically follows(follow) 2

(a) =< G I (a) Only I and I follow

EEESHT (b) Only Jil follows

CEESIECHI] "’c')/rﬁy land I11 follow

(d) |+ © (d) All follow

(e) T & =i 7 : (e) None of these

CGP-14-02~* Page No. 17
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36. . i =gfe O ek A @ ¥ | AT R

W @e AfFEl #, s T veresw quy

T T §SRR R | o 9RE wwRae
w fefrcas Y il otk wer | F
st i e e 6 afeff oin 2 | s
GhIsRere, ffhess aur seiifia 3 s
4RI Rl 6 TRy 2

(a) gt

(b) e

(c) <heft

(d) wirelt

(e) ™ & IS &

37. f 01 Fardl, 2000 Y waw o, Y 01
Sad, 2001 W8

() Hmam

 (b) HiTeER
(c) YT |
@ wfER i
o) T A 9 7

38. I Ierdi, ford wws st o @ 232

T GEU G40 AR A 1991 ], F Fw oftm

36. Five persons are standing in a line.
Of the two persons at the ends, one
is a bank manager and the other is
an engineer. A chartered accountant
is standing to the left of a doctor.
Position of bank manager is to the
right of advocate. Chartered
accountant stands between the
doctor and the engineer. Position.of
the doctor from the right is

(a) Séecond
) Third
~(c) Fourth
(d) Fifth
(e) None of these

37. Ifitis Saturday on January 1, 2000 then
January_i_ 2001 would have been

(a) Monday
(b) Tuesday

(c) Friday

(d) Saturday

(e) None of these

38. Which single letter is exactly

between the two letters — one is 22nd
from left side and the other is 19th

U ST Uk e 2 2 from rrghAsrde in the following ?
ZYXWVUTSRQPONMLKJIHGE ZYXWVUTE WPONM‘EMF&GF
EDCBA (EpcBA

(@) M (a) M

(b) N (b) N .

© L ATL

(d) K (d) K

(e) ¥ & ré T (e) None of these

CGP-14-02+ Page No. 18 s Set-A
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1 -
S K
e E D ¢ ?“55’”

@_@ON ﬁxl 8 J I H % @

39.  sirsf wrofwTen 3w srarl o1 oriqE i
It fow # foran st 21 <) w=) W)
HeR Ug 79T 3§ o ¥, oy feuft

(GISITRTT) T 37T 2
(a) 6
(b) 12
fc) 16
(d) 18
(e) 37 & ¥ =
40. 10 d 120 % st & Wt smeii o, s 7
q o RS St & e Rt Bt oft
I T 1’ T 3ok AT R, Fohat oI 37
‘0’ 3T R 2
(a) 3
(b) 4
{c) 6
(d) 6
(e) T | w13 7

41. 31, 29 39 59 SR 2 sty
aft deansi (siht i T B wed

) —~C
39. All the English alphabets E

arranged alphabetically in the
reverse order. The diﬂerence of the
positioﬁ

(d) 18

__{e) None of these

40. How many times the digit ‘1’ appear
in the numbers betweeg 10 and 120
which are completely divisible by 7
and which consist of the digit ‘1’ in )

W’?
( any plaff
(a)3
(b) 4
(c) 5
-d) 6

(e) None of these

41, The sum of all the 2 digit numpers
which are formed by the digitsd, R e

HEIR TS and ¢ 3 (Pep.etltlon of digits allowed) is
(@ 132 (@) 132
(b) 148 (b) 148 ;
(c) 198 _ oy 198 L e
(d) 212 (d) 212 88 12
(e) ¥ A +1E 7 —(e) None of these [l 32;3
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42. TatafEg yreat 42. The following words
SHRISHRI, SRISRI, SHRISRI SHRIBHBL SHISHI; BHASH],
SRISHRI SHREESHREE | SRISHR SHREESHREE
d according to dictionary
Y (R Sl are arrange i
= ( . ) % fam : rule. Which of them will beif the end 2)
o s & | 570 @ 9 o7 F @ 2 e o
(a) SRISHRI (a)%%i:THL _
(b) SRISRI e s
(c) SHRISRI 1o} SRR
(d) SHRISHRI -
(@) SHR[SHRI (e) None of these
(e) ¥ @ %K T
43. When we arrange the letters of the
43. ¥ VRAKIE' % 3181 %1 udt w9 o word ‘VRAKIE’ in correct order, we -
I W, T8 T el 1 A0 I S | get the name of a river. Fifth letter
39 7 § 1 § viaat sren @ from leftinthatnameis ~— -

f

(@) R éi] /—....(a)"'ﬂ"/ e </

y \-,\1 : g I
(b) E AT (b) E /
) I
© | \f{‘/@\. (c)
‘\,- i (d) K
(d) K ‘|% !
; Ae) None of these
(e) T | &g e
44, In the following letter series, how
44. Fieifeifad st sfwen 3 4@ srer K R many letters of K are preceded iéi G)
? R vel G2 Prgam i P22 but not followed by P 2
CLMGKPNMGKCLOGKLXG CLM%F?N_MQI:{CLQQ{I_QXQ
KBKGKA KBKGKA
(a) 1 a) 1
(b) 2 )2
(c) 3 ﬁ’g/
(d) 4 . (d) 4
(e) 319 @ =% «{e) None of these
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45. Ti=foiea o S b, o A e 2
@R ) 2
(a) 31T
(0)
(c) TR
(d) g
(e) 378 & s
46, Trfafea & wiqur s @ sam 2
@) 2
i -wrgiheT, R, ke, 99, SR, 76
(a) Wiex-uTgfher
(b) =@
(c) &
(d) ¥=&
(e) T & 1S 7

47. A 7E e goft # v ug o 2 | 58 42

45. Which one of the following is dn‘ferent
(if any) from the others ? ~ha

August, March, July, November
January so

(a) August
(b) March
_'_F_,/
%}—‘Nbvember
(d) July

(e) None of these

46. Which of the following is different (if
any) from the others ?

Motor-cycle, Car,,,-w(f@, Bus,
Scooter, Truck ana

(a) Motor-cycle
(b) Bus
(c) Truck

(d) S@QEQL
j@ei”’l‘élone of these

47. One term in the given number series

T ? is wrong. What as that term ?
3,5, 13,38, 87, 168 3{@ 132?38 o7, 168
(@) 3 (a) 3
) 5 Mj;ﬁi}'s’/
(c) 38 (c) 38
(d) 168 (d) 168
(e) T 4 F1E T () None of these
CGP-14-02~* Page No. 21 . Set-A
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48, qﬁ+m3;af%+,+wmf%_.|_am 48. If + means 1, + means —, — means
o7 x qun x & e + 8, @Y x and x means +, then value of
12+43+1-5x2 wIAA S 12?_3".:1;%2‘3
(@) 5
(@) 5
f6) =3 .
= et %48 =1
c) 1 = - 2
(d) —1 ! (e) None of these 1
. * 2 | - 5
(e) T & e =2 e e
: _ |~ 49. All the face cards of the colour are I
! ; removed from the ordinary pack of
49, m‘_ﬁ o E", T TSt |/ TTT%F- cards. The number :)yf pcards
R ii‘ls\ii _i e feu T § | e A remaining in the pack is
5 Y Tl o Ee ¥
(&) 49
49
i (b) 44
A, B (c) 48 -
(c) 48 . (dy 26
(d) 46 (e) None of these
(e) ¥ & =S et |
Study the following letter series and give
Tatafeg a8t Aoft =t gfeq a1 39 o72R Joft the answer of question numbers 50 to 54
T 3nYia Y941 50 § 54 a5 & IW i | Wthh are based on this Ietter senes
Aséﬁ“@ﬁd”"’@m 5"@5;55&;“" kgeth:l(‘_‘.Imﬂ ?USTU
: X W Vv
Z - 2‘\“-’? z.&-
50. ]ifﬁ“' o fc e ST W T 50. How many letters are not in their
WA E ? usual place in the alphabetic order ?
(@) 7 (a) 7
(b) 9 g . -
(c) 8 Ay 8
(d) 10 (d) 10 '
(e) & ¥ &S T (e) None of these :
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W@ & ol arer aurigen 3 3 2

(@) 4 |

(b) 5

(c) 6

(d) 7

(e) ¥ & I T
5z'aaﬁ%mﬁ@n%§@m§@maﬁ%

3tk UTA T 918 T e van @ ™
Bl A HE A E ?

@ GJPV
(b)) EKQW
) CHNT
(d) BlOU
(e) < & i3 78
53. I W UsEd & il it I grad

TSI O e st 37 ufee Wit 1w
HITH HER B ?

(@) XL
“(b) TH
() HE
(d) SH

() ¥ & s el

51. How many sets of two or more letters
have letters in the alphabetic order ?

Aa) 4

A
(c) 6
(d) 7

(e) None of these

52. Some letters are preceded by and
followed by wrong letters so far as
their alphabetic order is concerned.
What are these letters ?

(@) GJPV
/émTE;me
(9 CHNT

(d) BIOU

(e) None of these
v,
53. . Which letters occupy seventh
position towards right and fifth

position towards left of the fifteenth
letter from the beginning ?

@
(b) TH
(c) HE
(d) SH

(e) None of these

CGP -14-02 *
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54. ﬁﬁ?ﬂﬁam%?ﬂasqeéaﬁamﬁ
T 78R AT HiET JIEH R 2

(@) F
(b) G
() E
(d) D

(e) ¥ § =IE &

55. T By ABC #, BC %1 wex fag H 2
 Frue ABC ®1 e P2 | 99 AP =

(a) %AH
(6) 5 AH
(c) %AH

(@ +AH

() ¥ & 8 e

54. Which letter is three letters ahead of
the letter, which precedes third letter

from left ?

(a) F

(d) D

(e) None of these

/5@ In a triangle ABC, mid point of BC is H.

o

-~ Centre of gravity of the triangle ABC is P.
Then AP =

(a) % AH
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56. U O 3 W Yol O 99§ IR
B R T T TRETE Te wht v 6
o R

(@) 327
(b) 334,
(c) Stﬁ
(d) “29-117.

(€) w3 B

56. Aroomis in the shape of a cube of side
3 meters. The length of the longest rod
which can be placed in the room is

(@) 32 meters

/(953/~/§ meters
e

() 3meters
(d) meters

(e) None of these

R ' \
1&1 = §

) e\t M3 g
57. 3t ROSE ! g wivi # TQUG Rt o 757\ If chqe is coded as ;QUG BLUE will
E’f_, a1 BLUE =Y e be com —/ PN
(a) DNWG ote |
(b) DMQP w "
(b) DMQP 0, A
(c) DMVF NN
(d) CDGF (c) DMVF Q/
(o) T § S e (d) CDGF 1% %
a3,
- (e) None of these < \o‘/’\/
58. aﬁ%?%wmq{ms%@aﬁn%,iﬁ__ _ /_L;{ o~ /J;/
o T 234 s 2 @ lfizfta;;for@s*? then2343tandsfor
(a) 785 (a) 785 &6 4 =
2L Y
(c) 678 © 678 Gop R ) A
/ ' o /%
(d) 586 (d) 586 | / i
(e) 378 & =ré & ey None of these |
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59. e we aiferent €S R 59. Below is given a table
T = T 3 e Birthrate Deathrate Year
(s (i &) tho}:l?s;nd thoz:md
388 s RER 39.9 274  1961-71
b S L 41.7 228 1971-81
1 Lt Loola 41.1 18.9  1981-91 _

¥ T § el e 3 ' From the above table it follows that

Rk L h am the maximum addition of population
(a) 1961-71 occurred during the period
(b) 1966-76 (a) 1961-71
(c) 1971-81 (b) 1966-76
(d) 1981-91 (c) 197/1;81‘
(e) T & ¢ 7 P 1981-91

(e) None of these

60. Feffed & ST @ e R (@R 2 )

39 Bifeu | 60. Find the odd one out (if any) from the
Y, ¥, =, 9 following.
g & ¥ - Pencil, Pen, Chalk, Ink
(@) e
(a) Pencil
(b) T
(b) Pen
i = &) Chalk
b (d)-'lnk-
(e) Tl & =g e .

‘ (ej None of these
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61. Frefifen & < sfl @ srem 2 (3l 2 )

34 wifew |
14 FETs, 19 Fawsi, 5 faamn,
12 SHal, 2 SHerqer, 30 SHel

(a) 19 Fam=R
(b) 5 et
(c) 30 sHed

(d) 12 st

(e) ¥ & ks el

62, SHF IRV ag N T
| (@) werdi &
(b) w1 &
(c) Tt &
(d) fafeen @
(6) w1 & =13 T

63. WIHTHT =T ¥ar (F{) ¥ ot ooy 2 &Y

(a) e T amEn @ 2
(b) e % et @ 2
(c) T HF I A R

(d) ST T SR E 3

(e) ¥H & %15 T

61. Find the odd one out (if any) from the
following. ;

ﬁ4 November, 19 NoggrpgeL,/

/3 September, 12 :}E_n_uary. 2 October,

30 January

(a) 19 November

(b) 5 September
5}g@)ﬁ/ﬁanuanf

(d) 12 January

(e) None of these

62. Shoe is related to Leather as Brick is
related to

(a) Stones

(b)- Fire

(e Ciay
(d) Building

(e) None of these

63. Interview is to service as
(a) Ticket is to travel
il
(b) Examination is to degree
e
(c) Travel is to bus
(d) Light is to darkness

(e) None of these
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64. 2 Ry ™ gy w f=m it 64,
- HSh : 99 : Ik
1 R vt 3 & e o el
T ST e gt 2
(a) T : SIET : MErER
(b) HTEHH : TGS FEW : UL
3 (c) TS : 31&R : UgATET
(d) 3= : 39 : 9mh
(6) T & S el

5. THRT 37T =R 9 e § | SeR-wfve R 65.
10 MiX wer ¥ 91° 9% u-ufem
R & 20 e @ R | fiw 57 afor-
© fem # 20 et = 21 o o T
U W AR g T ) vy e
Remdwwt 2

Consider the relationship given below
Road : Bus : Driver.

Now choose the group of words from
the following which shows the same
relationship as given above.

(a) water : ship : diver
_(b)-sky fﬂéferqplane : pilot

(c) paper : letters : reader

(d) track : train : passenger

(e) none of these

Rakesh leaves from his house. He
walks 10 meters in North-West direction
and then 20 meters in South-West
direction. Next he moves 20 meters in
South-East direction. Finally he turns
towards his house. In which direction
is Rakesh going ?

@) m-tf (a) South-East
U, b) North-West
(c) afur-ufeem i) o
(d) FeR-gd (c) South-West
(e) T & S 7 (d) Nor?h-East
, (e} None of these
66. UF Ul IR wer dig e w1 gng ward o
ARFRAGEA R D | 5 waten shows the time of 4.30 hours
o2 1 ¥ Ff Ran wwef 2 (4 hours and 30 minutes). If the minute
hand points East, in what direction will
(@) Sw-gd the hour hand point ?
(b) o1 (a) North-East
(©) I /(b)"'South—East
(c) North
(d) SwR-vfeem | (d) North-West
(e) T8 @ =S & (e) None of these
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67. Frfefad @) ws vl & § sEfln 67. Arrange the following in a meaningful

#ifeg

1. GHer

2. q5&y

3. gfEn

4. 3%

5. ©®H

(@ 2,8,5,1,4
(b) 2,8,5,4, 1-
(€) 2,3,1,5,4
(d) 2,3,4,1,5

(e) 5T & w15 T

68. ﬁm%f@am‘rqmaefggfwﬁ@ﬁéa%

order

-—

. Community

2. Member -

w

. Family

£

. Country
5. Locality
(@) 2,3,5,1,4

P 3.5,4, 1
(€) 2,3,1,5,4
(d) 2,3,4,1,5

(e) None of these

I 3T safem Hifu
68. Arrange the following in a logical order

1. W from small to big
2.9 1. Flat
3. A8dA 2. House
4. S 3. Palace
5. Ffm 4. Bungalow
(@) 1,2,3,4,5 5( ;3‘:“292 5

a) 1,2,3,4,
(b) 5.1,2,4,3 __b)'5, ?_, 2,4,3 —
BB © 5.2,1,3,4
(d) 5,2,1,4,3 () 5,2,1,4,3 -
(e) T ﬁ-aﬂ'ﬁp?ﬁ (e) None of these

CGP-14-02 *
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69. 3% W T WHT I It =5y T o)
P v % e e e fmeror S
® | 3719 R HGY ?

(@) T foaeiena & et suflre & s
(b) ST9 w1V T woT TS Ty

(c) @9 IR Ut ¥ g wARE F 7 a7
T 1 IS ST ST

(d) e 3wt g=ft & fore i swer @

(e) 0 T WIS T

70. 3T SRR E T S v e
HYT W B & T @ R | oy Ty
i 2
(2) =TT SR G % forw o gy ain
&t

(b) MY ST ST FF IHR T S
wmﬁi‘(

(C) ATY IGehT T F0

(d) 3 3 Fetfraa w1

(o) ¥ & =g e

71. S TAF Terhed § ged € @ uw
Frerd o & &
(8) % T § T T A
(b) T et geweE o §
(€) erTera et e & fore 8

89. The cook who prepares food in your
house has invited you to his daughter's
wedding. What would you do ?

(a) You will just attend the wedding
(b) You will ignore the invitation

(c) You will cohgratulate him and
make some excuse for not
attending the wedding

/(d')/You will buy a gift for his daughter

(e) None of these

70. You are an officer and one of your
employees is not perfoming his duty
properly. What would you do ?

(@) You will give him some more time
to improve

(b) You will talk to him and try to find
“out his problem

(c) You will transfer him

(d) You will suspend him

(e) None of these

71.  From the statement ‘Every library has
books’, it follows that

(@) Some libraries do not have
readers

(b) Books are only in library
(c) Libraries are meant for books only

/(df"i';lo library is without books

(d) 1S g gede WRe T 2
(e) 9 T =g 7 (e) None of these
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72, gFGH zﬁmmnﬂaazrﬁ%rﬁu;ﬁ%’aaa
e Fererar @ T

(a) @ e safed St wwr wemar @ 9l
398 drar &

(b) T Bt Ry whe A S 2 .1

(c) T T ST T A A R <

(d) @_ﬁaaﬁﬁ@ﬁmam%p\,

(e) 99 ® @IS e

73, Tk et & o =Rt e g, e 3
“Tae) T 2 T 5 o o st 2 | o e
ST W E el o 7 S vt 2w e
U fhg g afRm @ 2
() gfter =1 93
(b) G 1 <=
(c) Hiiet =1 swefism
(d) WWW
(e) 98 ¥ i &l

| 74, O wigenm Y R TR A Y, e
A FE I IS 0 A wht
w21 58 Afden, 6 e & frw v
qEfRE ® 2

72. From the statement ‘Ability is _poor
man's wealth’, it follows that

//fa')/A poor man can eam wealth if he
: has ability

(b) A wealthy man is always able -’
(c) A poor man is always able ~

(d) A poor man has the ability to earn
wealth :

(e) None of these

73. Looking at the photo of a man, Sunil
said, “His mother is the wife of my
Father's son. Brothers and Sisters |
have none”. How the man in the photo
is related to Sunil ?

=
/(a}-'ﬁunil’s son
(b) Sunil’s uncle
(¢) Sunil's nephew
(d) Sunil's cousin ‘

(e) None of these

74. Pointing to a lady, a man said, ‘The son
of her ©nly brother is the brother of my
wife.” How is the Iady raiated tothe man ?

e

(a) gt (a) Daughter
(b) TFL F =& o) ‘S/i"s!t';r*of father-in-law
(c) =T . (c) Grandmother
(d) w1l oIgq (d) Mother's sister
(e) 38 | IS e (e) None of these
CGP-14-02 * Set-A
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75. Tefife 9 st arht @ e g (@R @),
W BiY |

P,
]‘3\ (a) Gret
g (b) =it
LA
o (c) T
/ X\\ (d) T
l‘&
(e) T Q HI3 T_
Z/f/
frrtoraa Yo = ufge

i

76. A R @ R wng i wafd sga i
? TR offt T e T R | 39 oft 91 9,
S se EY | wafy fSrgeht o1e srEvasar
2 9% ¢ o Togaen! < wiersh @ Hym & ufd
I TTE F T FH F O T
fopw S =R |
%ﬁamwﬁu@mmﬁm
2 e

(a) % wwy 6 7T R OL

(b) Torelt & =afaqea & fore e & wfd
FTafies 9E TSl T8 8

(c) %= % wfa ora o foa s =R
(d) = =t a1t fomme @ =1t wew o

75. Find the odd one out (if any) from th
following. i,

brother-in-law, Iecturer—m law}ster—d

law, father- lmher in-la
daughter-in-law

(a) Brother-in-law

(b) Sister-in-law

(c) Father-in-law

(d) Moth?r-in—law . |

/(e)""ﬁone of these

Read the following passage :

; Naste of time and the expenditure o
fashions is very large, yet fashions ar¢

here to stay. They will not go, whateve
happens. However, what is nov
required is that strong efforts should be
made to reduce the excessive craze foj
fashion from the minds of youngsters.

The passage best supports the
statementthat

(a) Fashion is the need of the day
\(Lb)
L

(c) Craze for fashion should bt
reduced

Excesswe craze for fashion is no
good to one’s personality

(d) Work should be valued more thar

R A A - ,outward appearance
) PR (e) None of these
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77. e oo § FET T, @ g 8 "ue 30 fime
=T gOY AT & | UEl T ®

(@) 2.30
 (b) 330
(c) 4.30
(d) 5.30
(e) T & WIS 7l

78.  rsh sofamen & (w12 el #) W@ aedi
e ot # wfefee get sl S dl 8,
&I ®
(a) 8
(b) 7

() 6

(d) 5

(e) T & FS T

79. <A sor v et (fa 50 Rt 9fa wer)
e 2 o v wreE i fawdia fesn g e
TR, 9dFs T 38 IR It R | HrerEd
H o 280 N &, a1 (6., uf =wer )
FREIRIINE

77. When seen through a mirror, a clock
shows 8 hours and 30 minutes (8.30).
The correct time is
(a) 2.30
(b) 3.30.
(c)y4.30
-
(d) 5.30

(e) None of these

@ The number of English alphabets (in
\o=" capital letters) whose water-images are
same as the original letters is

(a) 8
(b) 7
(c) 6
(d) 5

—

.
U/..fféf None of these

79. A man sitting in a train which is moving
at 50 Kmph, observes that a goods
train, travelling in opposite direction,
takes 9 seconds to pass him. Length of
the goods train is 280 meters its speed
is (in Kilometer per hour)

(a) 58 (a) 58
(b) 60 (b) 60
(c) 82 62
(d) 64 vl (d) 64
(e) T | 15 A& (e) None of these
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80. UH ¥ 108 .. ufy uod i vfy @ =t

B | geht i ex 9fy Qeve § 2
(a) 10.8
(b) 18

(c) 21.6

| (d) 32.4

(e) 378 @ 13 e

81. UF =ufed 7t & e & Ren # 32 fs

a1 wEE % fuda 14 f5A. A @

1 T YT IAE g F Rw 6 9wy
2 | S i e e 2

(a) 1
) 5
(© 1%

(d) 2

(e) ¥ @ I T

82. GIURY AT B Rt 3 ) s 36 g

80. A train moves with a speed of

108 kilometer per hour. lts speed in
meter per second is

(a) 10.8
(b) 18

(c) 21.6
(d) 32.4

L@),«Ndhé-of these

/’

81.

A man rows downstream 32 km and
upstream 14 km. If he takes 6 hours to
cover each distance, velocity of current
in kmph is

(a) 1
b %
A

(d) 2

(e) None of these

_ : ; 82. Two pipes A and B can fill a tank in
T 45902 F W) wehd & | af ST iy ww 36 hours and 45 hours respectively. If both
|1y 2ol Y Wt B T § e the pipes are opened simultaneously,
St 2 how much time will be taken to fill the

tank ?
(a) 10 gwe
(a) 10 hours
(b) 15w (b) 15 hours
- (0) 187w (c) 18 hours
(d) 20 woe Ld—)ﬁ Hours
s
() ¥ & = T (e) None of these
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83. ‘mum FewioE e Al i NeuaeEs
T FETR 2

3
e

(c) ¥=a1 ~
(d) B

(e) 3

84. “‘urun wgd € G e ®' A A wrwn
Rz

85. = # & S ves glew TE R 2

86. o o # qui ferisn fomam &1 s R 2
(@) HI AT TR
(b) w=T T 7Y T
B@waﬁmﬂ
-0 TR g et ey
(o) T A

87. WEITEN H ITH] FHIE B ?
(a) Trege
g
(c) sgshfe

(d) ==

(e) Ty

88. Trjur & wian suwt @ 2

(a) & M f
(b) e (b)
(©) v \/&-ﬂf
\/wém (@) fim
(e)‘ AR (e) g
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(d) =

(e) s1T

90. ‘:f}.-aéﬂg’gﬁ‘éﬂrr’gm’{ma—rﬁm

ERiRi

(@ Iexdpmsha v

(b) ST

Mﬁfwaﬁzﬁm

(d) ¥R H © e
(e) 91 @ F13 7

O1. 2T 1 Herewsl B

\_@) P
U6 g

92. IR FT Waw 2
(a) era
(b) W s
Pl
(d) Teren

() ¥8 § I

93, ‘ai’am’agﬁiaﬂeqef%

(a) AferepR ST
/@mfﬁ:ﬂ

(c) &1™ & "RAT

(d) vk <~

(e) ¥ & = 7
y ‘TR T qEER w5 e 2

R S
(b) I g @

(c) Yo UeT T AT

(c) wE 5
(d) 7 v g ) @ w gan w©
(d) A = EIFIT
(e) ¥ & =IS et (e) 7 & w1 e
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